Parts Information

- Parts list -
Vehicle WDDK]J7DB8CF 149354 (69B) E 550 CGI
Color 792 - undefined Equipment 201 -
FIN: WDD2073731F 149354 Assortment class PC
Group 20 ENGINE COOLING Sub-group 140 TURBOCHARGER WATER
CIRCUIT
Item Part number Designation/additional information Qty
10 A 278 200 08 00 COOLANT LINE 1
Right feed line
10 A 278 200 10 51 COOLANT LINE 1
& Right feed line
FH Code: -(F217 /F222);
10 A 278 200 19 51 COOLANT LINE 1
& Right feed line
FH Code: -(F217 /F222);
Replaces: A 278 200 10 51
20 A 023997 44 45 * O-RING 4
o) 11.2X2
25 A 000 992 06 80 . 1
& RING
40 A 000 997 92 44 SPACER RING 1
Water line to turbocharger
50 A 278 200 08 51 COOLANT LINE 1
Right return line
60 A 023997 44 45 * O-RING 4
£ 11.2X2
60 A 023997 44 45 * O-RING 2
53 TO A 278 200 08 51; 11.2X2
FH Code: -(F217 /F222/F231);
90 A 278 200 07 51 COOLANT LINE 1
Left return line
[, [414] THE OLD PART MUST NO LONGER BE INSTALLED
100 A 023 997 44 45 * O-RING 4
K53 Left return line; 11.2X2
120 N 910143 006001 HEXALOBULAR BOLT 1
On left turbocharger; M6X16
120 N 910143 006001 HEXALOBULAR BOLT 3
Coolant return line mount, left; M6X16
FH Code: -((F217 /F222)+ME04 /F166);
120 N 910143 006001 HEXALOBULAR BOLT 1
Coolant line to water pump .; M6X16
FH Code: -((F217 /F222)+ME04);
120 N 910143 006001 HEXALOBULAR BOLT 1
Water line to turbocharger, right; M6X16
130 A 0009957975 SPACER 1
150 A 278 200 00 51 COOLANT LINE 1
Left feed line

© Copyright 2022 Mercedes-Benz AG

Replaced by: A 278 200 09 00



Parts Information

Item Part number

150 A 278 200 09 00

160 A 023 997 44 45
&

200 A 000 995 20 32

210 A 278 236 03 40

220 N 910143 006000

© Copyright 2022 Mercedes-Benz AG

Designation/additional information

COOLANT LINE

Left feed line

Replaces:'A 278 200 00 51
* O-RING

11.2X2

CLAMP

Coolant line mount
BRACKET

Coolant return line
HEXALOBULAR BOLT
Holder to turbocharger; M6X12

Qty




